
vp1!=vp2 || vp1!=vp3 || vp1!=vp4 || vp2!=vp3 || vp2!=vp4 || vp3!=vp4
ONo()

vp1==vp2 && vp2==vp3 && vp3==vp4
OYes()

IRepdigit4(p1,p2,p3,p4)
vp1=p1;
vp2=p2;
vp3=p3;
vp4=p4;vp1!=vp4 || vp2!=vp3

ONo()

vp1==vp4 && vp2==vp3
OYes()

IPalindrome4(p1,p2,p3,p4)
vp1=p1;
vp2=p2;
vp3=p3;
vp4=p4;

vp1==vp2 && vp2==vp3
OYes()

vp1!=vp2 || vp2!=vp3 || vp1!=vp3
ONo()

IRepdigit3(p1,p2,p3)
vp1=p1;
vp2=p2;
vp3=p3;

vp1==vp2
OYes()

vp1!=vp2
ONo()

IRepdigit2(p1,p2)
vp1=p1;
vp2=p2;

vp1==vp3
OYes()

vp1!=vp3
ONo()

IPalindrome3(p1,p2,p3)
vp1=p1;
vp2=p2;
vp3=p3;


